
Subject: Re: the sky is falling down again
Posted by Haje Korth on Tue, 30 Jan 2007 14:29:42 GMT
View Forum Message <> Reply to Message

shouldn't your oplot line read "oplot,[0,10]*1d-7,[0,10]*1d-7" ?

"Reimar Bauer" <R.Bauer@fz-juelich.de> wrote in message 
news:epngnc$f9fd$1@zam602.zam.kfa-juelich.de...
>  Hi all
> 
>  here is another example which is very funny if you see it the first time
> 
>  a=indgen(10)*1D-7
>  b=a
>  plot,a,b,psym=1
>  oplot,[0,10],[0,10]
> 
>  because the coordination system is defined by plot it could be a bug too
>  and not only a question about precisions
> 
> 
>  Any idea what is happen here?
> 
>  Cheers
>  Reimar
> 
> 
> 
>  -- 
>  Reimar Bauer
> 
>  Institut fuer Stratosphaerische Chemie (ICG-I)
>  Forschungszentrum Juelich
>  email: R.Bauer@fz-juelich.de
>   ------------------------------------------------------------ -------
>         a IDL library at ForschungsZentrum Juelich
>   http://www.fz-juelich.de/icg/icg-i/idl_icglib/idl_lib_intro. html
>   ============================================================ =======
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